PR A&
4 5 3ANBHRE

FHE 4

(Midir: /gy
SRR

SRR E - WRS | mavse | SEARNS ARG RERNRHE |
T wmom
— — = 26,436,344
e = — - 13,271
3 AA-=/224046 (HisEEAE) = == = 6,465,681
N ORE/0019207 (R [— — - 136,509
EUF{R£/0314218 (EIEHAL) [— — — 1,122,668
M ORE6027814 (MRIEE |— = — 973,338
MAN+=/61976 (frFRIRER) = = — 7,527,815
Ry oRiG/6021792 (THE |— - —_ 1,183,473
ENFRR/0260009 (frEEGRE) |— — — 2,717,090
NAZ/106701 (HEHEIER) s — — 238,962
R ORE/6096433 (A |— — — 3,463,364
RUHES/021415]1 (AEMER) |— — — 729,441
LSO BRIG/0017643 {;IH:; = — — 139,516
I\ 120639 (ALY & = (== = _1,686,316/
JNEF 26,423,073
RIS | = — = 23,629,184
EliiE- — — — 3,762,353
’ — — — 29,
27,7
RiE — i3 = il 189,878
— R e RAARS — fnad 104,936
== S RBEA A AR5 e = 1,367,591
= R R B e — 342,161
= == | 14,913
. s 2,
miiein - ‘
1
- | = = = I
- EEEST I
g — R T BRI T 1,291,500 1,045,587
HORTEMR S = WS MR R 7,619,103 7,492,982
B BB R b — W2RREE S hE W R I 8,025,176 6,008,841
Y — AR — W SRR IR 15,304,608 14,176,008
bt eI S = — -_
PR RERMEA (5] Y R — — -_
e S S TE R B = bAoA — —
s = e = —
M= — : = =
Ly
WSS DT R i/ 1282161 (W) - — =
T A/37534675 (iESH&) = = =
£
YA 7 VRS [ EWFALT 4160 = RIT;] — =
BEUF41VN3396 — 9 2 MR R = =
E¥F50-26155 - m2 l&%ﬂﬂ:tﬂk&m — —
E5F41178176 - AT AL = —
BUFALET17 —_ w2 mtm:m_&m — —
B ¥F507:6103 — 2 2 Mtk RAL R A = =
BEUFB00 X 8635 — 5 2 A RIS — =
EBF800471538 — 2 WS R = =
FLNF581V 9512 - AR AL R — —
875813498 = LERIC = =
<6 LORHHEE = =
BLY 4 ol B —
MAH ) & ERE 385 — —
L HENRS03 HY AR = =
12 " Fy l




